ORIGINAL PRINT ATTACK of the the EYE CREATURES

Broadcast Fee \$ 4 With 1 Star \$ 20 With 2 Stars \$ 60 With 3 Stars \$ 180 With 4 Stars \$ 320 With Award \$ 450

\$50 per Star/Award Syndication value \$ 30

ORIGINAL PRINT RIDING WITH DEATH

Broadcast Fee \$ 8 With 1 Star \$ 40 With 2 Stars \$ 100 With 3 Stars \$ 300 With 4 Stars \$ 450 With Award \$ 600

\$50 per Star/Award Syndication value \$ 60

ORIGINAL PRINT THE CRAWLING EYE

Broadcast Fee \$ 2 With 1 Star \$ 10 With 2 Stars \$ 30 With 3 Stars \$ 90 With 4 Stars \$ 160 With Award \$ 250

\$50 per Star/Award Syndication value \$ 30

ORIGINAL PRINT THE DAY the EARTH FROZE

Broadcast Fee \$ 10 With 1 Star \$ 50 With 2 Stars \$ 150 With 3 Stars \$ 450 With 4 Stars \$ 625 With Award \$ 750

\$100 per Star/Award Syndication value \$ 70

ORIGINAL PRINT MASTER NINJA

Broadcast Fee \$ 6 With 1 Star \$ 30 With 2 Stars \$ 90 With 3 Stars \$ 270 With 4 Stars \$ 400 With Award \$ 550

\$50 per Star/Award Syndication value \$ 50

ORIGINAL PRINT THE MAGIC VOYAGE of SINBAD

Broadcast Fee \$ 10 With 1 Star \$ 50 With 2 Stars \$ 150 With 3 Stars \$ 450 With 4 Stars \$ 625 With Award \$ 750

\$100 per Star/Award Syndication value \$ 70

ORIGINAL PRINT STRANDED IN SPACE

Broadcast Fee \$ 6 With 1 Star \$ 30 With 2 Stars \$ 90 With 3 Stars \$ 270 With 4 Stars \$ 400 With Award \$ 550

\$50 per Star/Award Syndication value \$ 50

ORIGINAL PRINT THE SWORD & the DRAGON

Broadcast Fee \$ 10 With 1 Star \$ 60 With 2 Stars \$ 180 With 3 Stars \$ 500 With 4 Stars \$ 700 With Award \$ 900

\$100 per Star/Award Syndication value \$ 80



ORIGINAL PRINT GODZILLA vs MEGALON

ORIGINAL PRINT HORROR of SPIDER ISLAND

Broadcast Fee \$ 14 With 1 Star \$ 70 With 2 Stars \$ 200 With 3 Stars \$ 550 With 4 Stars \$ 750 With Award \$ 950

Broadcast Fee \$ 18
With 1 Star \$ 90
With 2 Stars \$ 250
With 3 Stars \$ 700
With 4 Stars \$ 875
With Award \$1050

\$100 per Star/Award Syndication value \$ 90 \$150 per Star/Award Syndication value \$110

ORIGINAL PRINT GORGO

ORIGINAL PRINT EARTH vs the SPIDER

Broadcast Fee \$ 14 With 1 Star \$ 70 With 2 Stars \$ 200 With 3 Stars \$ 550 With 4 Stars \$ 750 With Award \$ 950 Broadcast Fee \$ 20 With 1 Star \$ 100 With 2 Stars \$ 300 With 3 Stars \$ 750 With 4 Stars \$ 925 With Award \$1100

\$100 per Star/Award Syndication value \$ 90 \$150 per Star/Award Syndication value \$120

ORIGINAL PRINT GAMERA vs GUIRON

ORIGINAL PRINT MIGHTY JACK

Broadcast Fee \$ 16 With 1 Star \$ 80 With 2 Stars \$ 220 With 3 Stars \$ 600 With 4 Stars \$ 800 With Award \$1000 Broadcast Fee \$ 22 With 1 Star \$ 110 With 2 Stars \$ 330 With 3 Stars \$ 800 With 4 Stars \$ 975 With Award \$1150

\$100 per Star/Award Syndication value \$100 \$150 per Star/Award Syndication value \$130

ORIGINAL PRINT GIANT SPIDER INVASION

ORIGINAL PRINT PRINCE of SPACE

Broadcast Fee \$ 18 With 1 Star \$ 90 With 2 Stars \$ 250 With 3 Stars \$ 700 With 4 Stars \$ 875 With Award \$1050 Broadcast Fee \$ 22 With 1 Star \$ 110 With 2 Stars \$ 330 With 3 Stars \$ 800 With 4 Stars \$ 975 With Award \$1150

\$150 per Star/Award Syndication value \$110 \$150 per Star/Award Syndication value \$130



ORIGINAL PRINT FUGITIVE ALIEN

Broadcast Fee \$ 24 With 1 Star \$ 120 With 2 Stars \$ 360 With 3 Stars \$ 850 With 4 Stars \$1025 With Award \$1200

\$150 per Star/Award Syndication value \$140

ORIGINAL PRINT MONSTER A GO-GO

Broadcast Fee \$ 35 With 1 Star \$ 175 With 2 Stars \$ 500 With 3 Stars \$1100 With 4 Stars \$1300 With Award \$1500

\$200 per Star/Award Syndication value \$175

ORIGINAL PRINT DEATHSTALKER III

Broadcast Fee \$ 26 With 1 Star \$ 130 With 2 Stars \$ 390 With 3 Stars \$ 900 With 4 Stars \$1100 With Award \$1275

\$200 per Star/Award Syndication value \$150

ORIGINAL PRINT MANOS - HANDS of FATE

Broadcast Fee \$ 50 With 1 Star \$ 200 With 2 Stars \$ 600 With 3 Stars \$1400 With 4 Stars \$1700 With Award \$2000

\$200 per Star/Award Syndication value \$200

ORIGINAL PRINT REVENGE of the CREATURE

Broadcast Fee \$ 26 With 1 Star \$ 130 With 2 Stars \$ 390 With 3 Stars \$ 900 With 4 Stars \$1100 With Award \$1275

\$200 per Star/Award Syndication value \$150

DEEP 13

If one secret lair is owned rent is 4 times amount shown on dice

If both lairs are owned rent is 10 times amount shown on dice

Mortage Value \$75

ORIGINAL PRINT WAR of the COLOSSAL BEAST

Broadcast Fee \$28 With 1 Star \$ 150 With 2 Stars \$ 450 With 3 Stars \$1000 With 4 Stars \$1200 With Award \$1400

\$200 per Star/Award Syndication value \$160

CASTLE FORRESTER

If one secret lair is owned rent is 4 times amount shown on dice

If both lairs are owned rent is 10 times amount shown on dice

Mortgage Value \$75



ROGER CORMAN FILM SCHOOL

TUITION \$25

If 2 schools owned: \$50 If 3 schools owned: \$100 If 4 schools owned: \$200

Mortgage Value \$100

BERT I. GORDON FILM SCHOOL

TUITION \$25

If 2 schools owned: \$50 If 3 schools owned: \$100 If 4 schools owned: \$200

Mortgage Value \$100

SANDY FRANK FILM SCHOOL

TUITION \$25

If 2 schools owned: \$50 If 3 schools owned: \$100 If 4 schools owned: \$200

Mortgage Value \$100

ED WOOD FILM SCHOOL

TUITION \$25

If 2 schools owned: \$50 If 3 schools owned: \$100 If 4 schools owned: \$200

Mortgage Value \$100

